CLASS-VIII CBE-AUG '2023
BHOPAL REGION
ANSWER KEY

TICK THE CORRECT ANSWER

Choose correct answers:
1).What do you get on adding a smallest two digit positive number and a smallest two digit
negative integer?

0
-20
-109
-89

FEEDBACK : The smallest two digit positive no. is 10

The smallest two digit negative no. is -99 so the sum is -99+10 = -89

2)0,1,2,34.......... are called whole numbers. Also ,x and y are two numbers which satisfy all
these conditions:

(x+y) is a whole number

(x-y) is not a whole number and xy is not a whole number.

which of the following could be values of x and y?

x=3,y=2
X=6, y=8
X=4.6 ,y=6.4
x=1.3,y=6.3

feedback
if x=4.6 , y=6.4

then x+y = 4.6+6.4=11.00 and x-y =4.6-6.4=-18
which satisfy both the conditions so correct answer is C.

3)After 12 years, Kanwar shall be 3 times as old as he was 4 years ago. Find his present age.

12years
14years
Syears

13years

Feedback
Let the present age of Kanwer is - X

Then age 4yearsago is  x-4



Age of Kanwer after 12 yearsis  x+12

So according to the question

X+12 = 3(x-4)

X+12 =3x -12

3X—x=12 +12

2x = 24 then x =12

12 years is correct answer

4) The solution of which of the following equations is not an integer.
3X+2=5x+2

4x—-18=2

Ax+7=X+2
Bx-8=x+4

Feedback

The solution of 4x+7=x+2
4x-x = 2-7

3x = -5 then x=-5/3
Hence C is correct answer

5) In a parallelogram PQRS, the bisectors of P and £Q meet at O. Find £POQ.

-
- L

60°
90°
50°
70°

Feedback
The sum of angle P and Q is 180 so the sum of bisectors of angle P and Q is 90 ©
And the sum of angles of a triangle is 180 °

Hence 2«POQis 90°

6) RICE is arhombus. Find x, y, z



x=2, y=4 z=20

x=3,y=9, z=13
x=5,y=9,z=12
x=9,y=3,z=13

feedback

the diagonal of a rhombus bisect each other

SO x+y =12 and x+2 =5

fromx+2 =5 the value of x is 3

by putting x=3 in x+y = 12 the value of yis 9

in triangle OER by Pythagoras the value of z is 13

so B is the correct answer

7) The ratio of exterior angle to interior angle of a regular polygon is 1:4. Find the number of
sides of the polygon.

24
10
22
15

Feedback

The sum of exterior and interior angle is 180 °



If ratiois 1:4 the 1x+4x=180°
5x =180° then x = 36 ° exterior angle is 36 °
The no. of line of a polgon = 36 0%exterior angle

So the no. of lines is 10 .
8)The correct statement about probability is

P=1
P>1
0>P<I1
0<P<I

Feedback

The value of probability must lies between 0 and 1

0<P<l1

9) In a bag, there are 4 Red balls and 6 Green balls. A ball is picked up at random, what is
the probability of getting a red ball?

0.6
1

0.5
0.4

Feedback
The no. of total balls in a bag 10(4red+6Green)

Probability of getting a red ball = no. of red ball(favourable event)/total no. of ball(total
event)

4/10=0.4

10.Given below is a pie chart depicting the reason given by people who had injured their
lower back. Study the pie chart and find the number of people who injured their back while
either bending and lifting. A total of 600 people were surveyed.

1. Lifting 2. Twisting 3. Bending 4. Pulling 5. Others



400
402
380

270
feedback

The sum of % of bending and lifting is 49%+18% = 67%
So the number is 67% Of 600
67/100*600 = 402



SCIENCE CLASS-VIII

Total questions:10

Total marks:10

Identify the diagram give correct answer.

Q . Which of the following statement is incorrect?

Pot A- manure is added

Pot B- Fertilizer is added

Pot C- Neither manure nor fertilizer is added
Pot A- Fertilizer is added

Reason :- Fertilizer increase crops.
which of the following statement is correct?

drip system is a traditional method of irrigation.

drip system is a water conserving method of irrigation.

2,4-D is a insecticide.

drip system used in regions where availability of water is good.

Q .Choose correct name of the process and gas formed during this process.

Maida with yeast powder

Y
-

Raised maida

Fermentation and carbon dioxide
Fermentation and oxygen
pasteurisation and carbon dioxide
pasteurisation and oxygen



Reason :- During fermentation, carbon dioxide is produced and trapped as tiny pockets of air within
the dough. This causes it to rise.

. Q . Which of the following disease is correctly matched with its pathogen

Rust of wheat= Fungi
Hepatitis A= Protozoa
Typhoid= Virus
Polio=Bacteria

Reason :- Wheat rust is a fungal disease which is caused by fungus called Puccinia.

Observe given diagram and choose incorrect statement.

This diagram represent roots of a leguminous plant with root nodules
In these root nodules certain microorganisms lives

Group of these microorganisms is viruses

Group of these microorganisms fix atmospheric nitrogen into nitrate

Reason :- they do not have their own entity.

Q . Which of the following are inexhaustible natural resources?

Air and wildlife
Sunlight and minerals
Air and Sunlight
Sunlight and Coal

Reason :- those that will not get exhausted in the future.

Which of the following statement is correct?

Petroleum cannot mix in water as heavier than water
Kerosene is used as fuel for jet aircrafts

Refining of petroleum is carried out in factories.
Petroleum is an example of inexhaustible natural resource?



Reason :- its lower freezing point, higher flash point and lower viscosity.

Q.Which of the following gas is responsible for these events?

Oxygen

Carbon dioxide
Nitrogen
Sulphur dioxide

Reason :- due to lack of oxygen.

Q. In given event paper cup without water catch fire but paper cup with water doesn't. Why?
waler;\‘ / \ / 1 /

paper
cups

-—

Material of paper cup with water is incombustible.

Ignition temperature of paper cup with water is high than other paper cup.
Heating for paper cup with water is less than other paper cup

Due to filled water paper cup is not attaining its ignition temperature.

Reason :- water absorbs the heat coming from the burning source and thus prevents the paper
from reaching its ignition point.

Q. Which of the following statement is correct.

Goldsmiths blow the innermost zone of a flame with a metallic blow-pipe for melting gold and silver
Least hot zone of a flame is yellow colour.

In outer zone of flame complete combustion of fuel take place.

middle zone of flame is blue colour.

Reason :- the wax vapours coming out of the candle burn completely due to enough air supply.
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Read the passage given below and answer the questions based on it.

In 1765 the Mughal emperor appointed the Company as the Diwan of the provinces of
Bengal. The Diwani allowed the Company to use the vast revenue resources of Bengal. This
solved a major problem that the Company had earlier faced. From the early eighteenth
century, its trade with India had expanded. But it had to buy most of the goods in India with
gold and silver imported from Britain. This was because at this time Britain had no goods to
sell in India. The outflow of gold from Britain slowed after the Battle of Plassey , and entirely
stopped after the assumption of Diwani . Now revenues from India could finance Company
expenses. These revenues could be used to purchase cotton and silk textiles in India, maintain
Company troops, and meet the cost of building the Company fort and offices at Calcutta.

Q1 Ot I ST T dtare o s B
Q1 Who appointed the company as the Diwan of Bengal?

{131 Maratha

a1t Pala

e FTEE Mir Qasim
7T Mughal

Feedback
The East India Company was appointed Diwan of Bengal province in 1765 by Mughal emperor Shah
Alam 1.

Q2 et w fafzer fasr i srzema &l =TS F g2
Q2 The British conquest of Bengal began with the Battle of

TFITBuxar
TATH P lassey

g Panipat
ART-AITST Tg Anglo-Maratha war



Feedback

After controlling the trade in India the Britishers wanted to politically dominate India. They started
this with the battle of Plassey in Bengal.

Q3 ASTIZAT AATeat sl LT § Ut o oTq & (Hahl T STTRT ek AT | ITHE
gaEd o7

Q3 By using which metal coins did the British buy goods from India From the early
eighteenth century ?

T Gold

=Tat Silver

TIAT S F74t Gold and Silver
TH T TS 75t None of these

Feedback

From 1621 till 1800, the English sent their precious metal bullion to the Surat mint, controlled by the
Nawab, to be coined into local gold mohurs and silver rupees.

Q4 FUAT T T o Lot T 39T fohey foro T
Q4 For what did the company use the revenue of Bengal?

AT 31T L9t @& @L1aAT To purchase cotton and silk textiles

FIAT o FIART T 977 T@FT Maintain Company troops

T o oot o THHTOT T T 7 927 F2AT Meet the cost of building and Company fort
T gt All of these

Feedback

The revenue from Bengal was used to cover as salaries of officials and to finance the trading
activities of the company. Raw materials for England's growing industries were bought with the
revenues collected from Bengal.

FATLAT T ITTRT AT T F Y AT SHIT I29T 9T A &l 3l o qiaeT & o g<fera
RG]

Using resources in a balanced way so that our purpose is solved as well as they are also
conserved for the future.

Q5 TH FHAT HT TART Fd gU gl (dhed T T49 il

By using this statement choose correct option

qT9a "97e s Human Resource Development
Taq Tt Sustainable Development
- Aa TRt 9Te Non-renewable Resource
TH & FT "5l None of these

Feedback

Sustainable development is development that meets the needs of the present, without
compromising the ability of future generations to meet their own needs.

HHTEAT T ATALTH I H STANT Fled sl SAALTIOT g ATeh o STeal THTH 7 i



is the concept of using resources carefully so that they do not end up

quickly.
Q6 f U ey ¥ & 3= oreg &7 T4 FY
Choose appropriate word from given option.

GETE G0 Resource Conservation
Tqq {31 Sustainable Development
TATRTU(T FHTEA Renewable Resource
TH ¥ FE "5l None of these

Resource conservation means safeguarding precious resources such as minerals, wildlife, trees,
water, and other natural resources. Resource conservation also involves judicious use of resources
to avoid waste and allow the environment to rejuvenate.

o TaE HZca Q0T TThd® SETeei | & UF g Tg TZAT ol Tdg & el ARl T AT d 8
9T g1 Fa< FLaT g 3fi¥ T Pre TTaerd & 9T Fe0 T8 TR 781 8l

Land is among the most important natural resources. It covers only about thirty per
cent of the total area of the earth's surface and all parts of this small percentage are not
habitable.

Q7 TH ¥ FIA AT HHATEA J2AT il FeA FAg T AT T TAT AT FaC FLdT 872
Q7 Which of these resources covers about seventy per cent of the total surface of earth?

¥ Land
gt Soil
arg Air
aTHT Water

Feedback
The Earth's surface is covered in more water than by land. About 70% of the surface is covered in
water.
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Read the passage given below and answer the questions based on it.

According to the Constitution, there are three organs of government. These are the
legislature, the executive and the judiciary. The legislature refers to our elected
representatives. The executive is a smaller group of people who are responsible for
implementing laws and running the government. The judiciary, refers to the system of courts
in this country. In order to prevent the misuse of power by any one branch of government, the
Constitution says that each of these organs should exercise different powers. Through this,



each organ acts as a check on the other organs of government and this ensures the balance of
power between all three.

Long answer text

pong ans

Q8 TTHTT T FId AT 3T IL 39T F [oIT FHTgA F4TAT 82

Q8 Which organ of government makes law for entire country?

fremfa=rT Legislature
FTAITIeTRT Executive
=rqriert Judiciary
T @t All of these
Feedback

The Legislative organ is responsible for the creation of the laws or the set of rules. The power of the
legislature is in the hands of the Parliament.

Q9 FTIAT &l AN A 3T FLHT AATH o o7 e SrFHam 82

Q9 Who are responsible for implementing laws and running the government?

farerTtaerT Legislature
FTAITIeTRT Executive
=IrqTierRT Judiciary
TH | FI Tal None of these

Feedback

The Executive is responsible for implementing laws and running the government.

Q10 =H TI=eE FT i T (=TT FAT 8?2
Q10 What is the central idea of this paragraph?

=T Federalism
g fATaeAaT Secularism
STTRAT T JAFOT Separation of powers

TIH ¥ Fe T=i None of these
Feedback

Separation of powers is the division of the legislative, executive, and judicial functions of
government.



